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Two-degrees-of-freedom
Vibration System (2)
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Modal Analysis (5)

0KxxM =+&&
Equation of motion with no excitation force

Coordinate transformation 
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x Physical coordinate

Modal coordinate

iy : Displacement of 
the i-th mode
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Modal Analysis (6)

0KVyVyMVV =+ TT &&

Equation of motion with no excitation force
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λwhere
Asymmetric elements are 0.

Responses are divided into 
two independent modes. 
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Modal Analysis (7)
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Modal Analysis (8)
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Initial conditions
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Reconstruction of Physical coordinates

)()( tt Vyx =
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Modal Analysis (9)

Forced response

fVKVyVyMVV TTT =+&&
Equation of motion with excitation force

mfyy =Λ+&&
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Modal Analysis (10)
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